Precalculus Acc ’22-23
Trig Basics Test vl
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1.  Inthe figure to the right, sinfcos@= .
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2. Which of the following is not a unit vector?
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4. Simplify the expression cot(cos‘1 6x). ADT= bx
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5.  The magnitude of V= 7i =6 is
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6.

If the terminal side of a passes through (—9, —5) , then cotor = %
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If se09=%and sinf <0 then tanf= %
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1. 99=13)is on the terminal side of 4. Find the six exact trig values:

sinA= = '-"7;. CSCA= "":'V/g'
cosA= /4 seCA = !?75’
tanA = ""577 COtA == ‘%—
2. If cosB= % in QIV, find the other five exact trig values:
g=—u |
sinB=_U/L cscB= -7"%.
(

cos B=22 secB= &\

21 20
tanB: _— \\/w COtB == ,20/(

3. What are the approximate values, in degrees of 4 and B (from #1and #2)?

A= -Gl ,a2% £36un

B= —1 3,73 ¥ 3cen




4. Find the approximate values of:
Cos 1.56 =.0W

Sin-138= . 22¥

Tan 1.45°= ,671¢

Sec32= |, 149

Csc -412°= —\, 2 6%

5. Find the approximate values (in degrees) of:
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6. A boat sails 58 mph at a bearing of 173°. The current flows 10 mph at -84°.
Find the magnitude and bearing of the resultant vector.
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